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Passage:

- SfeNfeiiad TRt ufdan et fasedrerm e S S e fomad |

AR 5o $fciid Jraxt ifer Gt SiRfic| a1g 3: $ARI Sdfa aid 91 uikorefa 3fd Fe@: ol a1 $a: | aeayrt sga: gitsdr: STk IRt
ST Uf0Sd: SeUTeRH U Ufteday YRI@T T SHIaa: | W SUfal S J&RIRl Haae SRl T So/uTe: | Hefted: st AFRed arg
SR 3fd Tdea | T8 AMINHES ISGARt Jedaie aRiferdr, < aReiiaad 9, 3fa wifaq oy Siieiasd e J=iee addl

RE: ufd: d T una: 3fa SR, FUR SIem: SURHT oy d FRIGI | BIami] Sl 98 HaTg: Y9 | Ud St 3 A w1 e vammd
PTG AR SIS - T B aMaRIT: ? IR | Td : TRV SIS A 3k {34 | THd SARTRGRT RM: sregavs &R 3fa
T, FHgad SR™: S Sar 3 Wi adl ‘I’ S Xl TgaeRd g RO S4aq |

Q.No: 1 9% T: PURY Seafd 8T M ...ovveveenene.

A iirsatal
B el
C uRosafal
D YTt

Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:

Hopet:— ARG =l ufdan Uy fadhedierd e Sfedans S i el

TR Teaxiord 31ciid Jradl diferd Tt MRl 76 I: FHRI oisid aad a1 uRorefy 3 Feg: Tear a1 $a: | aeaqrl Sga: Ufisan: ST WRifsary|
ST ST SIS H Uh Uisaqy YRR GUR SHiddw: | W JUfAET B Jamrar Haa- SRl ¥ Seuad: | Hgftsd: 3 TRedu g
FHRef 3R agg | T/ AT AGHIRT RS =i, o gRoiida 9, 3R e $31 SIeraas J9mr Fhikm Jil

REE: Ufd: U9 71 U S SR, FUR ST SURH] og o FRIGIR | DIama) $Iedl 98 Yarg: T | Td Siieers: S - W | IS Tanmd
PR PR g5 - T DY IFERW: ? 37 | T T TRIRRF01 Hrear Adar 3 Ry=d | 1aHd FURIHITR SRMY: RegaRi R sfa
i, NIE SRAY: B S 3 i auT anriifaa 3eme Wid-T TR SRF: S |

Q.No: 2 UiUEa: & Uftgqay YRR GUH Sdaw:?

A AR
B eS|
C SETIIHH|
D M|

Correct Ans : C
Subject : Sanskrit Bhasha 02
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Passage:

Topa:— SrelfoRad Teiei ufdan uymi fawearareavsd: Sfadany S fad faeal

HATRY H=<Iord 3fcild Gradl i Gt Sl 91¢ 3: $ART srafd add a1 aikomfd s Fyg: e a1 $a: | aeayEi §ga: gitsar: Sk wRifsay|
SUHTT: UfiSar: SeTady U uftsaas YRRI@ET GUTH SHad-: | W JUTde! SR J&RIE! Saa- S ¥ Seluad: | HeMivsd: o HFveuur ae
R 3 Tagaq | T8 TAIRFAR INGHR! IReware gRiferdr, o aReliaadt 9, sfa wifaq syt Fiierafasd o w=imr addl

T Ui T AT I 3 SR, $HRY BIedn: SUNHT $g o RIS | SIaA] SIedl U8 Jale: U< | Td SIieer: i A uraar | et ganTd
PHIRIETE PAR) 37w - ST B AFILS: ? 3R | T T: TRIREU 1oy AT 30 AU | Taid PHRERERT SRP: SRgeRet Ry 3f
T, TEagad SR™: B ST 3 Ieie adl ‘Jrnfaa S Xl TgaRg ° SRIM: 3(Had |

Q.No: 3 X HHIFAA IGHAR] ARAHAIG WRIfHdT | Heg?

A TRETew|
B S|
C TRgl

D fameI

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

Hora:— SrelifRad Terist ufdn ws faweadared: Ifadars Sw i foaql

AT H-sRIor 3fcild gradl Difdd Gt Sl 916 : SART wrsfd T8 91 IRl 3id Feg: Uhdr 981 $a: | degHEl §g4: Giisan: SNl TRy |
SETT: UfisdT: STy U Ufteday YRIRA@T QU Si-iad-: | W SUlas! SR JemIa] Haa- SR ¥ Siurad: | Hefved: o HReaur g
FHREfd 3 gdea | T8 AAIRFAA JNPIR! IRewale g, o IReiiaad 9, sfa Sifaq &u Skigrasd Fae J=ierT addl

REE: ufe: T a1 U 3 iR, SHR ST SUNHT g o PRIGYE | SRIARR Sl U8 Halg: UgT: | Td Sifcieng: 3 AW Widar | TS ST
FIRICR FHART 3G - KT B IFIAS: ? 3 | TG G FRRE AU B FRaar 3 e | vai FART™TRT R: SRegwest 3R 3fd
Ih, BUga SR™H: B ST 3 K@ adT 'arTfa’ SO I JgasRg ° SRM: 34aq |

Q.No: 4 IS YT PSR FHRT 3G - 3 P: ABR:?

A el
B R
C del
D T

Correct Ans : D
Subject : Sanskrit Bhasha 02

Passage:

G- SreNfariRe meiit ufdar uymi s erer av: Sfudaaq 3w e fered|

TRERI T-5_1o 3fciid Frax! Sifer Gt S| a1s 3: AR Safd aig 91 uRomsfa 3fd Fya: teal a1 $a: | agayri §ga: gitsdar: STl Wiy
ST UfiEar: SfUTaSH U Utsady YRRAE GH siad-<: | W JUfAET HI qeRRat Haa- Sl 9 Sie/rad: | Agmftsd: o THequ ar
R 37 9T | T DA INAR] IRETaIS wRiferd, o aRviiaadt 9, sfa wiiq Sur FifteraiaTd T vEierr addl
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JUTE: Ufd: T T WI: 3 SR, $UR SIedn: SURHT $g o FRIGIIA | SIai] SIel U8 Jalg: Jqa: | Td SIicrer: 3 A Ueaar | IS Janmd
PR FART 37w - R HiYq TFERT: ? 3 | Td q: TR0 ST Ieaar 3 fAad | Taid FHRTHER 3R™: SRegera fefRr sfa
I, TG 3RT: BIYA Sal' 3fA Kah a1 ‘IR’ SO Xl TgaRg 9 SRE: 3Haq |

Q.No: 5 TUAR SR™Y: B Telib Hafd?

A qrTifaa il
B I oI 3fal
c SRR

D SR Ty 3Tl
Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

Toha:— eNfaRad Tait ufder Uyl A eer a: Sfudaad Sw ar fiadl

TR Ho-53iord 3fcitd et pife GAt i) a1¢ 3: AR orsaf afa a1 uRomfa 3fd Feg: tear aa1 $a: | aegyri sga: aftsar: ST Wi |
SO ftsdr: TS U Ulteady YRR U Siqd=h: | W JUfAsT B JeRIRal Had- SRl ¥ So/rad: | Agmfted: o eI ag
FHR@f 3 Tdea | T TR INGERT IRears gRiferdr, o aRefidadt 9, sfa w1 sut Sifterafayd wme vEiear addl

RAYE: Ul T3 1 WIe: 3 SR, $UR SIan: JURHT o o FRIGI | SRiAfR HIedr 98 |alg: Uad: | U SifereR: 3 8 WIedar | st UeanTd
PIEN AR ST - R HEq IERW: ? 3} | TE q: TRRRE U ST a3 [Ad | TaHd SARTRIGR 3R™: SReerat il sfa
I, FEgaRd SR™: S ST 3 Xaie adl ‘Jrnifaa S Xl TaSRg ° SRE: 3(Haq |

Q.No: 6 J&IETH ~ 3 B faufas:?

A e
B Tt
C o
D Tgff|

Correct Ans : B

Subject : Sanskrit Bhasha 02

Passage:

o SreifdiRad TRIRE ufdar usHi e e aed: Ifadary Sw Rar forad|

HAGRRIRT He-5)Iord 3 gral Hied T SR a1e 3 $UR =i aad a1 GRorsfd sfa e Tohar a1 $a: | Jaur 989: Uiosdr: ST WRISany |
SUEIT: uftedr: Sefrad ] U uftsday YRRAE QU SfHiad: | W IJUldst SR qeRRel sda SRl ¥ seiurad: | Hefted: o Heaur arg
FHREfd 3fd Tdea | T8 DT INGAR] IReEare qRifsrd, o aReiiaadt 9, sfa s sur FifiterfaTd wHN TEferr addl

RAEY: ufd: T 7T U 3 SR, FER ST SR o o FRIGRI | Slamia] $Idl 98 Hale: Uad: | Ud Siferer: 3 A uraar | e TanTd
PG TART T - R S afaRy: ? 34 | Td : TS0 Srear IRaar 3fd fayaa | Toia ARTRIGH SRA: Sregaei R sfa
XaAIh, Faga R™: B ST 3R el adl ‘IR S Xalh- TgaRRg d HRW: 34aq |

Q.No: 7 3UR®: & MAq?

A Hayfer |
B Pfear:|
C HI:
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D

YRFa: |

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

Hopa:— SreNfofRae Teret ufdear v fAdearereareg: Ifadans I o foraal

AT He-axlord 3fcild grad) i G Sl a1 &: $oRT S=ifa aid 91 uRersafa s Fya: T a1 $a: | JIeaumal §89: uivsar: ST GRifordy |
SO gfiear: SIS U Uieady YRI@N GUT SHIad-: | T JUTIST FHI JaRa! Haa- SRid 9 Soad: | Hgmived: 3 Tequ a1

FHREfd 3fd Tagaq | T8 TAIRAAR INGART Reware gRiferdr, < aReiiaadt 9, sfa sifaq syt Fiiterafasd wo vEfemr addl

REGE: Uld: T 77 UTe: 3i ST, SHN ST SURHT $g o RIS | B BIedl g \ale: Yaw: | T BHiferer: Sfa 1 Wieqar | i Janwd
Pl PR Y - T HIY] IFIRY: ? 3 | Td : TRIRRFAU HATH IAdar 3id Ay | Taid SARTRITH IRP: SRgeRel Gl 3

Talich, TEgad 3RPH: B ST 3 Xeie aul ‘Jrnfa S Tl THaRRT 9 SRE: 3Haq |

Q.No: 8 df - 3add g fahm?

A
B
C
D

jeed
fck:|
fam
T

Correct Ans : B

Subject : Sanskrit Bhasha 02

Q.No: 9 IIFIHRIY IRVl AT -

A
B
Cc
D

R
FUSHI:
siifgaay
REAUGH

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 10 vl rgfiet Trafer-3get Pl

A
B
C
D

ad
T
SR
ISRl

Correct Ans : D

Subject : Sanskrit Bhasha 02

Q.No: 11 sif<mquiq gdaufer &1 uwm g

A
B
C
D

ferga
[sEl
CERISRE]
JuUTET

Correct Ans : D

Subject : Sanskrit Bhasha 02
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Q.No: 12 [y TIF F: AL ?

A e

B germa:
C Sfeagi:

D CEGHIRY

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 13 dic IHRY AEAR -

A o ot fefyy

B 38 g faaiiy
C Y Yis USH
D 31aT Gsh Yora:

Correct Ans : C

Subject : Sanskrit Bhasha 02

Q.No: 14 &: Sl 3 S Aifay & Foafo s anfar fopamn: squg e

A q:

B LiC|
C =
D CIGE]

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 15 312 Teal T1d Pie=N usia: Taifrmeun qerw! Sif-

A HFgeTq
B ERUIRICEES
c TERUGTH
D A GBS

Correct Ans : A

Subject : Sanskrit Bhasha 02

Q.No: 16 fRrerhur wemai RI&mr Ydar IRPAHTIIET: U9 TEIT BRI | Ud, TagR, e qd IpaarI aagfdl 9:

A TaafaftET ureafa

B gror [T reafa

c qrefaars fafteT arsafa

D Riape SaER: T dRN: KT

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 17 FfifadeRoYy did R 3R A7 & @er: gasrari faer Tl Hewayquiyfie! Ryl ?
A o Wik fAgurar wrgaf

B S aut sfeanfor Susatw
C < & geoaeR grerAeEm: iy
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D C JAPIRICHIA HiYgai, S ° U dNIH SULEI: PGl PRUIY:

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 18 TRl GorTeD-FaHTRIICH-STe: SHIaRgd: gwa: sdHied: Hafd -
A RigmgRT srEiamemd: Re-FEmmeaaFt Ry

B v ffafes: 99 vex Ofa
C ART: WEHId yepfed ofd
D N T Rigv-gid ved 9

Correct Ans : A
Subject : Sanskrit Bhasha 02

Q.No: 19 g qelfamemar: fGenfi=: teH siRd (envelop) FHig MR garfa | faandf AEwra ureH S | UreThemany wafde: wiafaf: gerd sl -
A [ICEGANIEEIR]

B FRTURPIRIAIPT

c YAV IRIAABT

D AN FetTeTHarar: e

Correct Ans : C

Subject : Sanskrit Bhasha 02

Q.No: 20 HGarATHG HATICH IETERUMIKT?

A T T

B in]

c Hior @rafa
D o ferafa

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 21 BHT: HUAT: 3=t URaed Sy gaRag a1 ffézam, a1 meFiR:
A PRUTEP IRITYTH

B feuot SremfdRad

C HATIAIGP IRITadTH

D BTG AIGYTH

Correct Ans : D
Subject : Sanskrit Bhasha 02

Q.No: 22 SffFTaR: TR IF-Ff TR: 34 yaf | yii-weaan 3¢ g &: aHikE: Sur: ?

A fafmmfafaeit grT Taee Y ST TR ST SiawruT HeFy
B gdfeiia yrereTs w1 ufagfd: 9

C AETHIT T, UToAaeg: BTG UeTH

D BTATOTH HRATH-&7aT fITariy siftm-arrran:suafe:

Correct Ans : A
Subject : Sanskrit Bhasha 02

Q.No: 23 Rignfdi Ffew=nermed Rierp:
A
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QT TRIGRIPRUI ST 4
B BH MeR g SRIATEINgRT 4Rdq
C BEAT SN Stk Faiq
D BEW TAS I R Fafq
Correct Ans : B

Subject : Sanskrit Bhasha 02

Passage:

T feNfiad ueriet ufdear usmt Reaaeemeg: Shaaar S fman forgal

Al R Y Jaraeria|
3T gfdgart wei 7 FHERA| |

Q.No: 24 'sany USSR TPR: Fld ?
A faffrg 9or:, stemulg

B e THR: THIGH

C IR IoR: Tuey

D e TPR:, UG

Correct Ans : D

Subject : Sanskrit Bhasha 02

Passage:

Topa:— AN T=Iit ufcar Uyt faweara®RNeg: IRIqadq ST i forad|

STl AR YT e
ST Tfdgpan Wl T FHER |

Q.No: 25 g1 g &rg: Weaay foor sif&r?

A 3 WT: TG Ty
B Y UIg: el HAT:

C Y UTg:rdl YIY:

D ot UTg:, T T

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

Taba:— feNfAfEd ueriet Ul uymt eerasavg: Shadaas W fan gl

Sy ede YT SaaeaE|
ST Tfdgan Wl 7 JHmER |

Q.No: 26 TAIHIIUR SRATY: TSI BIER TR0} 7 Heieqy ?
A STET: Ufagar

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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B S{TET: STgge

C g

D qid:

Correct Ans : A

Subject : Sanskrit Bhasha 02

Passage:

Gabe:— NI =it ufdcar Uy fadeara@re: Ifadaaq Sw i feradl

ol R Yl dargurfar|
ST Ufdga- Wi - gArERd| |

Q.No: 27 '3rgent s weaH faamuenf& |

A faufa
B vt
C RGeS
D SAIH

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

T~ AN Taiit ufsar uymi s earaereg: Ifiqaaq Sw o fRredl

spErlt TR Y SaraUrfan|
STEA: UG- Wyl = JHER |

Q.No: 28 3fief: U gered, fqufaa:, 9a7g &: 2

A T Wea:, Ul faufdRe: vpaaam)
B A Wz, W faufeR: gehaem
C ST Treg:, WA faufaR:, sgaa
D ST e, el faufds: sgaemm 1

Correct Ans : D
Subject : Sanskrit Bhasha 02

Passage:

o fefoIiRad weriai ufdcar uyi fAeearaear: Ifudas Iw R foraal

Sl YR YT JaraUriany |
ST UAGa- WRui 1 JHER| |

Q.No: 29 Ja ugs¥H wfRAfy fme
A ?fI‘Ef: i
B o7 i
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c qig: g

D o R |

Correct Ans : C

Subject : Sanskrit Bhasha 02

Passage:

Tahe:— HNIRIT Tt ufdcar Uyt fadearard reg: IRaadq Sw Rl fkired|

ST YHTARG Y arayRiaT|
3T gfdganty we 7 FHrERA |

Q.No: 30 's@urfany Ugsf Iua: deRY &: ?

A 3(q FYo, T TPR:
B 3(d JUo, AT THR:
C 3(d Yo, TG TPR:
D 3(q FYo, AT ABR:

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 31 A= & § ymw R

A R0 R &

B Tea-3Ed TGl §

C - UG §

D faftrr et & S yror o1 wuTdt st Riar &1

Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 32 Tyt T | g F I smaves § f$ a8

ft s Bt UTST HT BT H TENT B
A
Tt st B} UTrSit BT T Y
B
C Tt S BT U & THTT | BT DI g |
D Tl ¥ NgHg 7 9

Correct Ans : B

Subject : Hindi Bhasha 01

Q.No: 33 HIWI & ad 3R TP Hedich P AT B A TS TEAY B
A Wit & S feraar

B 3nar # R et vt % SR gear
c Y T
D IR B o BT

Correct Ans : C
Subject : Hindi Bhasha 01

T TT= =<7 === 7Y TTor FIATY TF
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MIO MOY/X Y Y X1 HA Y IMITT X1
Q.No: 34 °

A T §1d 1 U1 9ol § & 9= Wyaras Wed) ¥ uRkfd § an 16t

B Rierer &1 g7 TR BT SR fireran § & a=8 3 ue &t frait TeviE @ wwen 31
c He-od @I 3t giad gl At &

D TY SR P 3Med B P g1 8

Correct Ans : B

Subject : Hindi Bhasha 01

Q.No: 35 e @t R Akl sgard §-

A U G TdH Foredt

B MY Tomel

C A ToTTedt

D T U SR 7 g A yomedt

Correct Ans : A

Subject : Hindi Bhasha 01

Q.No: 36 W& YR H 3fa F R F # & waifvre Sugem o1 82

A 9 &1 fRiamo

B 3EPR B R
C e e

D og o g

Correct Ans : C
Subject : Hindi Bhasha 01

Q.No: 37 P & ¥ URa & wduyn it erexm fAfY & TahT &1 oRY o gaim?
A 1980

B 1920
C 1963
D 1941

Correct Ans : C

Subject : Hindi Bhasha 01

Q.No: 38 1 # § gegic & & siftwma g2

A AT Bt gt b1 WD

B Had qeH arlt ufshar

C Tifsd STaeRId URGdHl Bt SHHRE

D IOl 3 ofd &1 i, Sad g9am arel ufthar e qifed erdeRiTd uikadl @t SHaRt

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 39 FH & J SH-U U& 35 UIed-Yad! &I 07 2

A Faa arfwar
B Faa deddr
C Fad HHEGA
D grferdT, QREIRTET U4 HaaST|

Correct Ans : D

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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Subject : Hindi Bhasha 01

Q.No: 40 IHR® fawd @A & g oMo & S 2

A
B
C
D

o IgaH
Fad UISIgRKD Uei

Fad GBI
ECERULILS

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 41 HfIeT Fradid HRA THY PHad GBI Nedl BT & WA F 31 STER0T & O ‘g’ '3 3% | I8 IR0 §

A
B
C
D

QATRAT BT

YT fABR 31

IR el arelt yToT BT
UTSI-SRIT B SHEfT BT

Correct Ans : C

Subject : Hindi Bhasha 01

Q.No: 42 wray fafd wyad it 82

A
B
C
D

e fRreor
Hiaar fRigror &
ot fieor &
e fRgror &

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 43 = § § g 9199 FT 99 Hifore-

A
B
Cc
D

Aol B 9 BIE T §

FHDT TR WHTT DT §

I TP el B A F1%

FaR I < BT Ul B AFT ST 81

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 44 fmfifed # @ SH-91 <u o &1 IRy ST g €2

A
B
C
D

SeAT YT gt e @t el & g A &m

faenfiat & SERom 3 quT S Wi @t el Bt SR IHEEET
il o S T @I 3 Rigd S RIH T H

e dem & enare aun farell 1 &

Correct Ans : C
Subject : Hindi Bhasha 01

Q.No: 45 TR & A% Rigid wegd fu 7 § S sraa g2

A
B
C

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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D

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

e - fou U TRy $ ugeR YR U Ul & 99 3 SRk aTd [ddhed o1 9ae Sifor-

ST BT U IS TANT 781 81 I ary 9ot § oafes 9% deat & o Ixge a1 ard off S T | agaht ofk Jarefl &t A & Fe-ued & id-u1Y gEI-Uag
# 1t 5g@ a1 verd g T

e qol H agd B o MY’ O HERSIT Jgd o1 “HarBia” &1 o g—awgef ofR Jareff & g & 91 3ua1 i 78 761 § b qereifa 9g &
Ty gt axgsit 3R Yareht &1 ge dedr 3§ g a¥ogal R Jarsli & I ¥ 3fs 9 39 UHR gt § % I 0 Yed-XR d¢ ol 5| GERPifa 7 gt @
S At gra-a1a ¥ 4o 9ed § SR srforawy @ uuifdd ad €1 e Sl vd ot SR wrer verd, g aredt ok dcitg i, [ 8iR
f¥edie, Fleame snfe germifa § Taifie gvfad gt €1

TERBI 3 ga ois el 32 & axgelt ok Jarefl &t oo A ok 3 & $d IUR & &I IU- SRiga ¢ I WRAR! WY o1 I HfF § o § o
PR W & P19 FH1 I Go1 IUR Al 31 Foht & 2ff o $a1 Tl F Fg @R W F BH TF R Jb1 I IR IUR AT 81 99 o & 17 31 e FHafa
% 9fg &t ® O sea 7 Sw faesi gar oifvia wvar ¥1 e & HRd vardt st sy i HR A A9 € o S99 off ger-ufd § seia’t gt 81 ger-ufd 7 o
aa +ft gl ® Srafes Rferg afr afea Ak & oivafda S awdit 31 IaeRoa: aft s Rufd & e dees @t w8 i ik 1 oifte sryar
IUHIGT D13 a¥q Al T HF HIP T o an|

9 gal 31 g Iudaa gedt & SR 9¢ S § A A D) axgal ok Jarelt ot wivt Uit A F o vt g1y Y sravadhar gkt §1 Wy Ot Rufy o
IJUTEA 8] dgal Fifd Saed & ugad Gt ged S AHa-dwyE, Weifiet ofe uga 9 & gof &9 & #i &1 g1 $ F e AR § @ g 81 7=ias, oot
3R RSt ot B, faggd 3 F1f, ke iR $I Tug 31 FM & SRt Jae T 9¢ U1l TG URUIRGEY Siftie T F g arell axgal ok
Jarsfi 3 7 S SR g HH Il §1 T VPR GERSId F6alt 8

Q.No: 46 IWJa TR F AR, "GIRWIfa’ BT 37 37 § 2

A AT g & axgail 3R Jarsh & Fa qe-wR A i3
B it gyuer # awgell ik Jaelt & v gea-wR 3 Hl
o ot off TrgeTa § aegeit ok Jarsit & $a Teu-wR § St
D TGN B AT IETEA F SRR ST

Correct Ans : A

Subject : Hindi Bhasha 01

Passage:

= R 3T U TN S uge gp T URAl & 9Ed S ok ar fdeed $1 999 Bifeie-

TSI $T 0T I YT g1 g1 39T e afi § Siafes 39& gaa § o axgyd a1 Jard off o 9 | axgaft oiR areft &t 0 & dA-Hed & Y-I1Y GFI-Uaie
& +ff 9g1a a1 ved & g g

“IAF g1 H §gd HH diot MY’ dl GERwId dgal 8| "ErRbiar’ 1 o 3—avgsii iR arelf & qwa # gi ) 391 ifiium a8 =18 @ f geroifa 9g &
T et axgeit ofik arsit &7 Yo Sedl o Sy Fcgsit ok Jamsl & g ¥ 33 8 39 UHR 2l § 1 SUdT o ou-wR 96 ol | GERwifd a9 gl §
e YT G- § 99 954 © R SRIGTaRIT B YU R 81 ARt Il vd Jard S @ uerd, gy It ok e e, g ok
fesi, Plcamie 3Nfe germifa 3 gaifdes gyifdd g €

ToRpifa &t ga os fadt 32 & aegaft oiR Jarslt & Fa Ai ok 3 & $d IUTE & €I IT~ 3RIga 81 o WK T 31 F 1% g1 o §
WHR G & B9 db F g1 IYR Al 71 FAoht &7 2 orom Fa1 Tl F ggt ok Wid F &0 &1 R I1 I IR IUR Aar 31 5w a0 & srrara @t e fafa
# 9 St § o wed & 3 faeit ga ol Fvar §1 IRy # uRelT yarf ot 9T Ao HRd H A5 § o SU9 o g-gfd F seiad St ¥1 ge-ufd & af
a9 +ft St @ s it Tl afosg IRy & uitafda & S 31 SgERE: afe smuedy fRufad & fie deicier w6t 78 f[fesg I & aifds siar
JUHITT Bl 9% 34dT R o6d Hb TanT & ail|

9 g1 &1 Y Iuad Ued! & HRUT 96 AT 3 al Al o aegait 3fR Jarsft &t 7 it v & fae vattd ge1-ifk & sraxgdmdr gt 31 iR Ul fRufa A
IJATEA g ggal R Iaed & 1gad Tt ged S AHa-we, Weifiet onfe uga 9 & gof F9 3 97 & 1 $x3 & e I9 R & @ g 81w, oot
3R Mt ot B, gy @ $H, tRagT SR T AogR] BT HH F HRUT i I g 9 Il 39S URUTHGEY ifdw AT # g arelt avgaf ok
Farsft ot AT il SR g &1 Tl 81 $H UBR JRRBId Tt gl

Q.No: 47 Iuded T & SFHR, Tl Bl AIH Pd IGMT O Febell € ?
A W9 GF1 & gea § oFg g a1 Yand ot o |
B 9 aEgeil @t A § e URH B

== =r=ran = T T == rrrer =
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C VIS YXYVTL W 141 41 6T HIXe oIt

D e Gl & daa § ST a¥gy a1 Yang A1 oft o 9|
Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

e e R U RN & ugaR U U UKl & 9ed SRd Saik a1 [dded & 999 $ifon-

TGT BT U1 SIS YA g1 81 S9! ey all § Siafch IG& gaa & o/ axgd a1 Jard off o 9o | aRgaf SR Aaref Bt 4 & ggA-Hed & -9y GEI-HaTg
# 1ft Sgr@ 1 verd B b g

*3Af® ol H agad HH diol MY’ O GERWIA dedl o1 "GERBTdl &1 31 §—avgaft ok Jarell & g ¥ 9f ) a1 i a8 =gt € 6 gerwifa 9ga &
g ot axgeii ok Jaren 1 G Sgar § 3ifig qWogel R Jareh ¥ I & 3 $o 39 UBR 2l § 5 I 0 Tea-TR 96 ST § | GERPIfd o gell ®
e T Trg-FT § I 96d § SR Srfoqawy 3 gHIfad aRa €1 3iard awqt ud art SR @ uerd, gy Ikt SR iy o, A o
fSeole, PleRe ofe gerwifa § gaffte wwifad gk €

TEREI B ga o el 321 & axgaft oiik Jarsit &t oo A ok 33 & $o1 IuE & diF IO SRiga 81 9 AR WY o1 I oHfiF g ol §
WOHR 3T F B4 95T ¥ Gl IJUR it g1 Froit & 2ff 307 ot Tl & 967 SIR Tid & HH oF RSS! F A IUR Al 31 519 o H 31ard $ 30er Fafa
% 9 O ¥ o s A faeeit ga ol Fvar 81 gy F uRdg yarft ot 3T Ao URT H Ao § Y SO o g-ufi & seiad St ¥1 ger-ufd @ 9f
a9 +ft St & ol Fivea IRy aftsg IR & uikafkia 81 Ik 31 SEERE: I AT fufad! & e dee 36t 15 sy i &1 Aifis sivar
JUIET D13 A% A JHR HT FRP wanT ¥ ar|

9 gaT &1 gl IR gt & HRUT 9¢ A § df Al 1 agaft ofR Jarefl ot 7 gt A F o vafe ger-Iiy 31 sraxadsar gt 31 iRy Ot Rufa
IJATE g dgal Fifh Ided & Ugad Tt g o AHa-Jy, Weifiiet oife g 9 81 guf ©9 F #77 &1 [ & $ ¢ IR & @ g 31 7=, dont
IR et 3t S, faggd 1 w0, Rag IR $=9 Aoige! 3 FH & SRl U IdTe el §¢ TNl 396 IRUTRGEY Sifie T § g arell a¥gaf ok
Jarsfi B w3 SR g A el 31 T UHR GERBId d6all 8

Q.No: 48 I T & R, T 75 | fbw diet Y ol Gerewifa &1 FRUT el § 2

A Tfed e & &t

B Yarsit @t =T & i
C TRgaT @Y T[T Bt
D TG F I H FHt

Correct Ans : A

Subject : Hindi Bhasha 01

Passage:

e e fou U TR F e U MU URAl & oW S Sk aTdl [ddhed &1 9a9 $ifor-

TS BT 3O IS T4 T8l 51 U1 ary 9ot § oafdh 9% daal B o I a1 Yard off S T | aegaft ofik Jarefl &t AE & Fe-ved & -1y g1-Uag
# +ft g/ I7 e § gl gl

S Pl H g HH o MY’ o HERBId Jga o1 “Hardia” &1 of g—awgef ofR Jareft & g # 9| sua1 w78 761 § f qareapifa 9 &
T gt axgei 3R Yarsh &1 geu dedl 3§ g auogsi R Ja1sli & I ¥ 3fS $9 39 UBR gl § % BT o Ye-wR d¢ ol 3| GERPia a9 it @
e P Tra-Te & g d6d © ok srferaw & nifad #Ra §1 sifard awgl vd Jant S @y v, g areh ofR dci i, e SiR
feedie, FeTme ofe gerwifa § Faifue gwifd gkt €

oI 3 ga ois el 33 & axgaft ok Jars &t oo A ok 3 & $d IuE & &I IU- SRigad ¢ I AN WY o1 I 34w § o § o
PR ST F BT §bT T YT IR At g1 Foht & 2ff 3u7 a1 Tl & Fg 3IR T b BH 8 R IH! I AR IYR AT 81 59 3 F 3mard 3 e FHafa
7 ofg S & o o A 2 faReht ot oifSfa wvar 81 faew & wRelig vawdt et o aro yRe & Ao € o S99 oft ge-ufd § st S 81 ge-ufd A ol
a9 +ft St & wfes S afRr afsg IR & uikafda g od §1 SemRvE: afe smuraeiey fRufadt & e 9deR 36 78 f[fesg I & Aifis s
IUHIHT D13 G Al T HT HID WA o a|

9 gol &1 gfd ST geht & HRUI 9¢ ST § al A 1 awgaft ofR Jarefl Bt wivt Uit FA F R vt ge1-Ii Y sraadhar gt o1 W Ot Rufy
IJATE g1 dgal Rifd Saed & ugad it ged S HHa-dweE, Welffiet onfe uga 9 &) gof &9 & 7 &1 gu H F e A9 R & @ g 81 7=, oot
3R RSt @t B, faggd @1 F1fl, ufiae iR o3 Tugl @1 FH & SRt JareH 8 9¢ Tl $9E URUIRaEY Sifie T § g aredl axgeh ok
Jaraff 3 T S SR g F1 St ¥1 T UHR GRRwI Foedt B

Q.No: 49 ITIF TR & IR, A HY BT TG DIoIC-
A Safiie ge1 & 9gd o 9IS oMy o gRrwifa Sged 71
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B LRITHNC YR VI 197X QST A YUY VT SIYIVTE Y21 N1 AN TR QST Y2 W O™IQ Y2 SHY D™™ vyl et

C Ferewifa a9 gt § o Fifdd wHg-ora ¥ 4 9gd § iR srferawn &t yuifad &vad 71
D T BT ST WENT § 1 ST ard avft § orafes SU% aga & ofg g ar Jard &t o 9|
Correct Ans : D

Subject : Hindi Bhasha 01

Passage:

= i U U TR Bl ugeR UR Y URAl & e Sfd Sak i f[dded $1 999 Bifere-

TET BT 0T I3 TN 8 §1 39! oy aolt § STafes 39 gaa H ofy axgy a1 Jard off S 9 | axgaht ofR Jareht @t o & FeA-Hed & -9 GRI-UaTe
¥ 2ft 919 71 Uerd & I B

IS Hol H g P o MY’ o ERSIT Jga o1 HarBia” &1 rf §—awgsii ofR da1eff & g # 31 s9a1 Sy 98 71 § 6 gereifa 9g &
Iy et axgsit ofik Jarsit &7 ge wgar § SHUg duogsit iR Jarsl & g § 38 75 39 UeR 2l § & SUeT o Je-WR 96 ol 51 GERWI a9 gl §
S AT Tg-oa ¥ 49 964 § SR Sriorawil &l uyifdd aRa &1 Sifard axgt ud Jard SN @ verd, gy anph ok Adi di, Wi iR
fgesie, Pl o Garwifa I walfie gwiid gt 81

AR & ga s el o & axgeit ofR Jarshl &1 Fa T oiR 3N F $d IUIE & aId IO IT ¢ 9IF PRI T A § ¥ & o &
WHR U & Tog I T gaT IYR At g1 Aol 87 21} omm $a Tl & wg iR Wa & 0 81 R 1 I Ui SYR Ad1 g1 5 <0 A S o) e Hafa
# qfg Rt @ I wea F Sw faeeft gar oifvfa war 81 faesr & R vardt st s g YR & A9 € ol S99 o ger-ufd § sgiadt @kt 1 ge-ufd # ofg
aa +ff gl & s Afera afRr afra afkr & oivafda & ot 81 IereRu: oy s fRufd % o deiorer vt 8 fAfssa ik 3 mifere sruar
IUHIGT BIs a¥d f4al THRI HF HIP T § ar|

g GaT 31 Y Iuded gchl & HRUT 9¢ ST § <l A ) axgan SR Jarsft Bt Hiv g A F o vt Ger-i #Y snavadsar gt 31 Wy Ot Rufy
IdTeA eI Fgal i Ided # vgad gt 9od Oy HIFE-Uuied, WMot o1 uga 4 8 gof ®U 9 7 &1 gy HeA & g ASPR B @ S 81 TR, dort
3R et ot Sy, faggd 1 FH, uRagT iR F6 AolgR! 3 FH & HRO 1 JdTe T3 g¢ UTaT| $9% URUIRAEY 3ifiyes T F g arelt a¥gal ok
Jarafi 1 /i 3P AR gl HH Sl 81 TH YHR GERBId g6l 8

Q.No: 50 A= & | 5w wsg 1 W Iuaa e & =76 foban mar &2

A S
B AR
C el
D sifefa

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:

= A 3T T T B UgeR 4R T WAl & 969 3fd Ik d1d fawed &1 98 Sife-

TET BT O D15 YA G &1 39T Ay A+l § STaf 3% gaa § o axgd a1 Jard off o 9 | aRgan SR Aaret B g F ggA-Hed F Y- GHI-aTg
# 1ft Sgra a1 verd g b g

31 g1 A 9gd HH dio S O JERWIT dedl 81 rpidl’ &7 3 §—awgait SR Jarsh & gwa # 9f )| 39T il 98 - § T gerwifd s &
Ty gt axgeit SR Jarelt 1 Heu gar © g FHogsh SR I & I ¥ 32 39 39 TR it € 5 ST 9o eu-%R 96 ol 8| GeRpifd a9 8l @
e A Ta-FTe # Je 96d § SR srferawyt & uifad #Ra 81 e awqt vd Jant O @rer verd, gy amelt ofR ddig i, e oiR
feesie, Sl oife Terwifa § walfds ywifad gt 81

TERwifa ot ga ofs fd! &1 & axgell ok Jarsit 1 $a Af 3R 3 & o IAIG F §19 IO SRIGA 81 9d PRI T 31 F 31 g1 o §
WHR W & H419 FH1 I GaT IYR Al 31 FAoht 8 2ff oo Fa1 Tl F dgt ok Wid & &0 g9 | I I IR IUR 3ar 31 59 o= & srara @t e fafa
% o Ot ¥ o wed & T faeei gur ol Fvar 1 Iy § uRdT yarft ot 3 Ao HRT H Ao ¥ Y 999 o g-ufd & seiadt St /1 ger-ufd & 9fS
a9 1t gt @ v ffsrg Tl aftsg afXr & uitafda 8 o1d §1 SemRE: o smuaeid fRufadt & fie deicier w6t 18 ffera i & afas siyar
JuiadT B a%g a1 i g Hb JanT & Al

9 g1 9 gfef STfad Ued! & HRUT 96 A 7 al Al o agelt ofR Jarsht o 7T I v & foe vate gea-uf @) sraxgeddr gt 31 iReg Ul Rufa &
WG el Tga1 i Iaed & wgad g 9ed oY AFa-Ta1ed, Weifie onfe ued & € gof ©9 3 7/ & gu o3 & e Io0R § @ € 81 7y, ool
3R TR Bt B, faggd 3t M, uRagT R FIa Ao @ HHt & HR i IdeH TET g¢ U 3% IRumRaEy e 7§ g9 ard aegait SR
Jarafi B HiT 3P SR Yl B el 81 TH YHR GERWITd dgell 8

Q.No: 51 4 & ¥ “amura-Fafa’ & $1F-11 9Ar 872
77:9’&' T
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 14/57
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SigHIte X4

A

B FHYRY G

C &g YA

D fey Tu

Correct Ans : C

Subject : Hindi Bhasha 01

Passage:

e - U U TR $Y veeR U U URAl & 9ed IR SR a1 [ddmed o1 9ae Sifon-

TS BT U SIS FANT 81 51 T Ay 3 § Tafes & daal B ST Ixge a1 Yand o off o | aegaft ofR Jarsfl &t A & de-ved & -1y gg1-9aig
# 1ft Sgra a1 verd g o B

SIS Tl A §gd HH e MY’ o HERWI Jgal 81 Harwia’ &1 3 g—awgei iR Jarsft & gea # 3 391 i 98 61 § b gerifd aga &
Ty gt axgsit SR Yarei &1 g0 dedr 3§ g a¥ogel ok Jarshi & I # 3fs $© 39 UHR Bt § 6 I9a1 $o Yeo-R 9¢ ol § | GERPifa a9 il @
S FIfd qHg-a1a § 10 96d § 3R Srforawyl B uHIAd ®a €1 e ol ud Yart S8 @ uerd, g It 3R Aeha e, |ig ok
f3esie, Pl oife garepifa § walfte uwifdd &t 81

TSR ® Ja ofs Bl &2 & awgell 3R Jarsil 1 $a Al 3R 2 & T IAIG F 91 IO RGA 81 od WPRT T 31T J 1 8 o & o
WHR W& H4 P! Y GaT IYR Tl g1 o 87 2f om a1 Tl & Fe 9k Tid & FH 81 W 3P U IR IYR a1 31 99 <0 H o o1 sden fHafa
H ofS O & o sed & S faeft gat aifdia e 31 faewr & yRd warht sroeft o aro wRa & Ae € o 9 o ger-ufl & agied) St 81 ge-ufd & o
a9+t gl B el Ffsra alRr aftra wfRr # ufkafda & o 81 Iarerve: afe sarawie Rufll & forn Ieiaee 3t 18 fAfswa ik & miftre sruar
Juied] BIS avg 1@l Trfi g PP Wi H A

& gaT &1 gfd I gt & SR 9¢ A B A A D) agant ok Jareht ot Wi gft A F o v gei-i @Y sravadar gkt §1 g Ot Rufq
IJATEA gt dga1 Fifh Sded & Ugad Tt ged o AHa-dwe, Weifiet ofe uga 9 8 9ol F9 3 717 &1 [ $31 $ g IR § @ g 81 7=, dont
3R Mt ot &, fagga @ HHl, RagT SR @ Aol 1 Bt & SR ) A At 9 Tl S0 TRy il /i F g9 arel avgaf &R
Jar3fl B1 AT A¥F AR gfd HH il 31 3 UBR GuRWBIfd sgell o

Q.No: 52 i # 9 iRl &1 RAdH wse HH-T1 82

A wafed
B Suifeia
C fa

D SR

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:
e 9 AU U TR B ugaR U@ U URAl & 9ed IRd Sak a1 [Adbed BT 997 $ifei-

TET BT 0T I3 WA ol ¢ 1 39! ey afi § Safs I gaa § o agy a1 Jang off o 9 | axgaft ofR Jareft &t A & Fg-9ed & WY-91d GFI-Ua18
# +ft Sg@ a1 gerd 8 G gl

SIS Hol | g HH o MY’ O GRS Jgat 81 Harwia’ &1 rf §—awgsii ofR Jareff & g # 3| 391 v 78 761 § fb garepifa dg &
Ty 9t axgeli SfR Jarelt 1 e Sear § Mfig THogsT 3R Jarsh & I 7 3 TO 39 TR Tl 8 1 IS el ed-KR 9¢ oIl o | HERBIA ad il §
S A THg-Fa ¥ 09 96d § SR riora®yl &l uvifdd aRa &1 Sifard axgt vd Jard O @ verd, g anrh ok ddiy |, wrg iR
fgesie, PR o garpifa § walfie gyiidd gt 81

qErRwifa @1 ga oig fexdt 3w & axgell ok Jarshl &t $a A iR W F F IR F F 3T SRIGeH 31 99 WHR T o | ifde & o &
WHR U & Hg P! ¥ GaT IUR Al g1 ol &7 21 om $a Il & s oIk Wd & 30 81 R S I Ul SUR a1 §1 99 0 A Smard 3 e Hafa
7 of g S & < oo A =1 R get oiftfa wvar 81 fady & yRdig wardt st s aro yRa & Yo § o 399 ot ge-ufd F sad Sk 81 ger-ufd 7 gfe
a9 +ft Tl & wefes Fivea TRy afog AR & uikafida 8 I 51 SeeRu: IiG SiuTdea fufadl & g Seciex Y& 78 fAfSsg i 31 Afie siyar
JUITT DIS avq Yl IR 67 XD wanT § ar|

& o1 Bt YRS ST Ueh! & BRUT §¢ W & 1 Al DI axgell 3R arell @t wi gf wRA & fag vafe gEr-uik 3t sravgedr gkl 31 g U Rufy B
I el Sgal wiife Ided H vged gt e o AFE-HuieE, Teifie! ot ued 4 & gol ®u 9 7 &) gy S7 & e IorR & @7t g 1 TR, doit
3R TRt Bt B, faggd @ Ffl, e iR $I Toig! 31 FH & SRt JareH 7 9¢ Ul $9E URUIRAEY Sifie T F g aTell axgah ok
arafi B [ 3P SR g HH Sl 81 TH YHR GERBId F6all 8

=@ Y 2 arore 7= A3 orer == s =28
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. IFTETINTISA A1 X VIR YT YN ISy Y270 YT Y2 i -
Q.No: 53 N

A oI
B ST
C ffera

D PRRITES

Correct Ans : D

Subject : Hindi Bhasha 01

Passage:

R T F TgIR TP U U $ qed ST SR I fAdmed $1 I97 Bifo-
UgH o - TR YSA WS YHF, I A:

Yffy - |1 UG I S U

ool R 1Y €, 38 & s

GR §fe1 1 Giet =, Y S PR G,

@ RA-MIR T RR &1 A4 R I

YA B, AT R - W, IBT DR,

A gda g fF gt Ma s g

T 37 1 8 I H &g ar |

S I, YA § - TR @

I8 e S TH ¥, BA-FU H, SRAM S

34 o g1 we, f5g we RR am sman

Siferdl A Y T dcH! AT B, 3@ e

D! BT < ! Hvd Y, &l STl

Ta U2 a1 RR 3y & &1 Hgrl -

T HR G H, Fardl I SaE

4 & RR T - TR0 dl Frea 81 Wie o - T Rig 31 I8 siedr 82
Jfeat @ fr Trew @ g1 3, W7 81 W Wl § 98 S AT 9
qa 9 Qe 9m-RigH § vart 13y &1 SiiwE g sar

Q.No: 54 TRd TR P Tl HTd T 82

A TIGEP! P 'Y B SR AR B

B T9gaD! P YrFard! faRuYRT F1 SR IRa F
o Sar B A - Tl ¥ g faan & f s
D £ T4 I gun & R A v

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

= ST $ Uga I8 T Ul & Ja9 SR IR a1 [9bed B T HIfig-
T8 O - R GSHIA WS I, 3

YfFy - 91 UG I 3

10 R WY, I3 3§ S

GR Sfer 1 @il =, Y S PR G,
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% feu-fiR & RR &1 A 3= <

YA B, AT Rl - W, BT D,

el § gt Ma = 311

I B2 A Y T H g art

Sifa &R, LU S - SH) o |

98 Hoil b 14 W, Ba-¥9 T, SR 3

39 o HieT e, fbd e RR

Iiferdt A Yt T@ weHl 3T ®a, <@ 3wt

D P & W61 Wabhd B4, gl STeflt

% e a1 RR {3y o &1 sl -

Y B G H, S 99 SaE!

4 & R B - RO @ Frea 81 WP o - T Rig 3 98 Sied o7
sl @rg % e T g1 &, WioT & R Uo7 @ 95 o Gob g
A A Tl am-Rigt & am 3y &1 sl mamt A

Q.No: 55 U= & oy o Rig' Tsg $1 Yalo fhad forg fomar mar 82
A Rig

B gt
C il
D Afear

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

R DAY Y TgIR IR T U F Ged ST SR fbed BT 797 Sifon-
U o - R HSHK WHS A, PR d:

YW - A1 UG S 3 U

oo R Y g, I3 1 S

ER %1 31 Wi 99, Y I X G,

% feU-MR e RR &1 dia e 2

T Y, (U G - W, 3T B,

qrgdeh B fF gt Ma gl

G 82 A1 ® 4 &% U

Sig I, Y HE G - THR @

a8 welt & 14 ¥, Ba-S9 H, 3RAF 3

G 9 HieT 3Xel, fa wRe RR O sm

Siferdi 3 Y TG |l AT B, 3@ el

TS! HY g G hd 4, I& STa!

Ba AU 41 RR QU o &1 HgHl -

Ty $R A H, ST g Sar

HM & RR QY - RO @ Frea 31 e A - o1 Rig 3 a8 Sfean 82
el @rg fo are @ g1 &, Wivn & R uvr g o b 8
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q@ 7 Qe am-RigH § var 3y &1 siimE Tl sar

Q.No: 56 "ygrer 1 374 §-

A SIS
B Yo
C gy
D LI

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:

=T FrHIN Y TgIR IR T U F Ged ST SR I Abed 31 797 Sifn-
U o - TR YSHRI WS iR, X d:

A - I U S

I R Y §, I5 A S

&R §fd &1 Wi 99, Y 3 I &,

% fen-MR T RR &1 A 2

A B, 39 WG - W, I3 B,

A gdat & fF gt Ma s g

T ¥ A1 TG H e aeA !

Sifa &R, AN T - SR S|

98 Fell & 1 ¥, Ba-w U H, 3RAM S

39 o HieT e, fory are RR s

SIferdt A Yt T@ @l 3T W, <@ 3!

XD P & 61 Hobdl b, &I ST

Bq U2 71 RR faU &= $t e -

Ty B G H, Fah 99 SarE!

4 & RR T - RO @1 et 81 Wi d - o1 Rig 31 96 Siedl o2
Afet s & e &1 g g, Wi & W uor § 98 o 99T 3
A 7 T am-Rigt & yam fay 31 SifmE Tt srar

Q.No: 57 "9 & RR B1-TRI Y Tiedl 317 Iad Uil H Pl- I 3edR 82

A JUHT SRTHR
B JUD SfTBR
c SUN 3EPR
D I PR

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

I RT: BT BT UGHR Y T U= & Jo4 310 SR dI [qded & I Bifor-
TG O - TR HSHIA WHS T, IR A
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off - 91 UG & 3 YR

I R Y g, 33 4 S

R i 1 Wil =, I PR G,

% fRH-Mk & RR &1 9@ 3R g

THA B, (YA Cl - G, IBT I,

A gda g fF gt A wx g

I g2 A1 g 1 H &% U |

Sifg X, YA § - TR @

I8 M S T ¥, Ba-U H, 3RAM S

3 o HiieT R, f5e e RR aF smn

Siferdl 7 yfft @ dewr 3T ®a, g Sl

B! Bl T Y81 Ubd B, gaf ST

%a 3z a1 RR fu o &t Feri -

Ty TR G H, Fah 99 SarE!

4 & RR 3 - RO @1 F1ea 31 Hi® ° - T Rig 31 98 Siedl o2
Afeat s & wrew @ 9@, Wi 8 R Uor & 98 o g9 ¢
qH A Sl u-RigE & i fay o1 S wEat S|

Q.No: 58 "Y' ¥ea BT IRId YHigaTE Ted TN ¢ -

A P
B Eal
C T
D m
Correct Ans : D

Subject : Hindi Bhasha 01

Passage:

IR T B UgdR IP T TRAl & Wad 31 Swi i [qdbed $T T97 Bifor-
Ugd d - TR YSHR WS gHE, IR d:
fFy - 91 U S S e

1o R Y §, 93 { S

R §feT 1 Wiet =, S R G,

o feu-MRk wdh RR &1 Aid #X <

A DY, 30 W& - Hl, I8T R,

A gt € fp gt A ae g1

o 87 A1 S T W g urt

Sifa &R, LI S - SHR o |

98 Hell S T ¥, BA-FU H, SRAM S
g o HieT e, fry aRe RR S
Siferdt 1 yfft T@ dear QT wa, <@ S
XD P & W61 Hohd B, T STeflt
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Ta U a1 RR (Y aF &1 Hgrl -

T HR G H, Fardl I SqrE

4 P RR G - TR0 Al Fredn 81 Wie o - o1 Rig 31 98 Sfedr 82
Afeat @ & wew @ 9@ 8, Wi 81 W Ul § 96 o 997 o
qa 9 Qe 9-Rig § yamt 3y &1 sifimm At sar

Q.No: 59 TRd URITRT &1 Ufdan forge! Yafad ot € 2

A -
B SaHt
C P

D Eic]]

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:

= S FI UgHR TP T URAl & Fa9 3 IR Al fabed BT 9o Biforg-
TE T - R HSHIET WS g, I &

f¥y - A1 G UG S ST e

10T R 1Y €, 33 3 S

R S &1 Wil 9d, 3 S PR,

T fRH-MR v RR &1 /it $R 51

A IR, 3T < - U, IT IR,

3 gaat g b gt Ma wR g1

T 82 AR T H &g U !

Sifa &, LA S - SHR S|

g Fa & 1 I, Ba-FU T, SRAF ST

39 o HieT sRrel, fbd are RR a3

Siferdl A Yl T@ Tedl 3T ®d, ST 3!

AEISI B & 61 Yabd B4, gaf STl

B fAU? U1 RR U T &1 el -

Ty TR G H, FA 99 S

4 & RR & - RO @ Fredr §1 0F A - T Rig 3 98 Slear 32
sl wrg & e T gobi &, Ifon & R U0 95 o Yobl g
qa 7 Qe -RigH § yamt 3y o1 sifimm At sar

Q.No: 60 "G @ HEHI" T U & T §?

A Rigd P g GaAR o T Il
B Td GH 31
C & T S
D T & H Tod Her foran @t

Correct Ans : A
Subject : Hindi Bhasha 01
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Q.No: 61 What should come in place of the question mark (?) in the following question?
2466988

36 x18+3+412+8=7

fafaiea vy & uyaras g (?) & RIMA W &1 M1 91gT?

36 x18+3+412+8=7

640
A

640

620
B

620

618
C

618

636
D

636

Correct Ans : D

Subject : Mathematics

Q.No: 62 What should come in place of the question mark (?) in the following question?
2466990

(1443 + 78) x (19550 + 425) = ?

e oy & uyares g (?) & RIM R &1 3T 91ige?

(1443 + 78) x (19550 + 425) = ?

761
A

761

821
B

821

851
C

851

961
D

961

Correct Ans : C

Subject : Mathematics

Q.No: 63 The difference between the square of two consecutive numbers is 15, then the numbers are and
2467127

3 AT Esll & & o9 BT SR 15 7, A GBI 3R gl
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5,6

7,8

6,7

6,7
Correct Ans : B

Subject : Mathematics

Q.No: 64 Fifteen years from now Ravi’s age will be four time his present age. What is Ravi’s present age?
2467283

3 Q Ugg af 91 I Y oy ITP! IdAE omg AR T At I F adHE oy @ g2

10 years
A

10 af

5 years
B

594

6 years
C

6 a¥

8 years
D

8oy

Correct Ans : B

Subject : Mathematics

Q.No: 65 Ifx:y=4:5,then (3x +y): (5x + 3y) will be:
2467464

e x:y=4:5 T Bx+vy): (5x + 3y) T

3:4

A
3:4
5:3

B
5:3
17 : 35

C
17 : 35
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Correct Ans : C

Subject : Mathematics

. . . .. 22
Q.No: 66  Find the area of circle whose radius is 8.4cm. (ﬁ = —)
2467536 7

T T Gl AT ITTC o P .4 Wi 1 (w = 5)

221.76 cm?
A
2
221.76 HI
22050 em?
B
2
220.50 YHI
120.75 cm?
C
Y 2
120.75 THI
26026 cm?
D
2
260.26 THI

Correct Ans : A

Subject : Mathematics

Q.No: 67 Two adjacent sides of a parallelogram are 21 cm and 20 cm. The diagonal joining the end points of these two sides is 29 cm. The
2467652 zrea of the parallelogram (in sq. cm) is:

T R TG B & 319 Yo § 21 e Jar 20 edt | 37 S el & eifow fagsit & fAram aren fawf 29 it §1 IR Tqw &1
aEme (aif aut #) B
240

240
120

120
210

210
420

420

Correct Ans : D
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Subject : Mathematics

Q:No: 68 1Y, 3), 5 ( 997
2467763 [2-=|[2-=|2-= ... 2-—1i :
6 [ }J( DJ( 7] . 99()] 1s equal to:

1001
999

1001
999

999
1001

Correct Ans : C

Subject : Mathematics

Q.No: 69 /1024 is equal to:

2467987
/1022 % RIaR &:
72
A
72
22
B
22
12
C
12
32
D
32
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Correct Ans : D

Subject : Mathematics

Q.No: 70

60 _ # . ® T
2468000 If = = then the value of * is:

G2 = A BIAAE:

12
A

12

25
B

25

45
c

45

60
D

60

Correct Ans : D

Subject : Mathematics

QNo: 71 The complement of 65°50° is:

2468127

65°50' T IR o

24° 50°
A

24° 50°

24°10°
B

24°10°

14°50°
C

14° 50°

34°10°
D

34° 10°

Correct Ans : B

Subject : Mathematics

Q.No: 72

2469870 Find the product of binomials (3% + 3112) and 4 (m2 - 3—;“)
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(5 3n) st (e — 57) R oy o v e

< 3

3m*-10mn?- 8n*

A
3m*-10mn?- 8n*
3m*+14m™n?- 8n*
B
3m?*+ 14m®n?- 8n*
3m*-+ 10m°n?- 8n*
C
3m*+10m®n3- 8n*
3m*-14m™n?- 8n*
D

3m*-14m-n*- 8n*

Correct Ans : C

Subject : Mathematics

Q.No: 73 If (x — 6) is the HCF of x* — 2x — 24 and x? — kx — 6, then what is the value of k?
2470003

(x— 6) TTE x2 - 2x — 24 3R 2 - kx — 6 BT AGTH GHYIAD &, ol k DT H T 82

3
A

3

5
B

5

6
C

6

8
D

8

Correct Ans : B

Subject : Mathematics

Q.No: 74 ; ; 7 {r-m) (m=n) _ o
2471921 Simplify 1/1+a + 1/1+a :

wegd A 1/1+a"™ + 1/1+a7 = 2

A 0
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1/2
B

1/2

1
(o}

1

amn
D

gmn

Correct Ans : C

Subject : Mathematics

Q.No: 75 Micro teaching device is designed by

2475400
5ot A fSarsy g1 feugA fovan T §
Cruk Shank
A .
PP D
B Flgnders
Buch & Allen
C
9 SR TaA
D Skinner
o

Correct Ans : C

Subject : Mathematics

Q.No: 76  When the aim of testing is to compare the classes then use is made of
2475507

e TIEIUT T ILTT DTSN Bl G BT Bidl & ol SUGNT fbar e §

teacher made test

g Rty P 7dem
diagnostic test
° e Tt
standardised test
¢ DI WO
D aptitude test
wen

Correct Ans : D

Subject : Mathematics

Q.No: 77 What are the mathematical operations involved in Ranking scale of measurement?

2475628
g % ¥ Tm & it it Saee @ g
A Addition
B Subtraction
el
Less than or greater than
(o}
DY I R
D multiplication
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o

Correct Ans : C

Subject : Mathematics

Q.No: 78 A good objective should be

2475882
T 35T ST Bl =Y
related to teacher

A
e & dafia
testable

B
Tiemr gy

c small

D attractive

Correct Ans : B

Subject : Mathematics

Q.No: 79 NCF 2005 emphasises that
2475908

TIU® 2005 39 91 R SR 31 &

At the pre-primary stage, all learning occurs through play rather than through didactic communication

d-Trifie TR W, Wit Rievr SuRREE IR F IO @ S AEd I 8T §

Children engage themselves in rote learning of the number sequence

° ) ST I 7 e e T 7 e o
Mathematical puzzles create a sense of fear in the mind of children
¢ e 9t w3 it 5 7 v B e ¥
D Teachers should not allow the children t.o develop arguments
Rierp! 31 S B T fAPRIT H BT AR 81 & MY

Correct Ans : A

Subject : Mathematics

Q.No: 80 If'x’ means ‘-’ ‘-’ means '+’ '+’ means ‘x’ and '+’ means ‘+’, then what will be the value of the following expression?
2480961
16 x8+4-3+9=72

afe i< @ e -, - e e, @ o xR '+ @ o 4 B, Y Fafaiaa sdoie &1 ue an g

16 x8+4-3+9=7

10
A

10

19
B

19

20
C

20

9
D

9
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Correct Ans : C

Subject : Mathematics

Q.No: 81 1If 'x' means '-', + means 'x', + means '+' and '-' means '+', then what is the value of the given expression?
2480964
175-25+5+20x 3+ 10

i 't @1 e -, + P e %!, + 7 o 4 SR - T e '+ ], Y T U ol %1 °E T B2

175-25+5+20x 3 + 10

77
A

77

160
B

160

240
Cc

240

2370
D

2370

Correct Ans : A
Subject : Mathematics

Q.No: 82 Development does not include:

2481685

fasry & wnfire 781 dar §:
A Maturation
B Learning

Synthesis of abilities
Cc

TSN BT AT
D Capacity

&HdT

Correct Ans : D

Subject : Mathematics

Q.No: 83 What will be most appropriate in case students conduct indecently?

2482297
I BT 315 AR B ¢ ol Hay JUge T gIT?
To make them feel guilty
A
I A HEqH HREA
To get very angry upon them
B
B IR Sgd TR HAl
To punish them
¢ I3 afsa B
D To make them feel ashamed by preaching
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JUSY IR S8 QS BT
Correct Ans : A

Subject : Mathematics

Q.No: 84 You are invited as chief guest in a function. You will—

2482322
IS TF YARE B & ifafy & w0 & smafya fasan aran g1 sma-
reach there on time
A
TG R 981 UgS
reach late and feel proud
B
R Y UEY SR T gen
reach before time
© omiww
D reach.lgte and app_logize
R ugd oiR AT AR

Correct Ans : A

Subject : Mathematics

Q.No: 85 The place of a subject in the school curriculum is decided by
2482437

gl ureusd H frddt fawa o1 i fead grT aa fban s 82
Availability of teachers

gt Bt Suere

simplicity of subject

o &t wRa

It's mass connection.

g AN FHRE §

help in achieving the aim of education

D e % 9&7 B UG B | Heg

Correct Ans : D

Subject : Mathematics

Q.No: 86 What I like about teaching is that it is the

2482442
T Riew & TR A 1 WL R B A R
Most peaceful job
A i 7
5 Resort of even the least competent persons

9 9§ BH 9&H Al ST 1t T /A
Most challenging job

T FATguf B

Most lucrative job because of the scope for private tuition

D ol R P TSN F PR G Y
Correct Ans : C

Subject : Mathematics

Q.No: 87 Absenteeism in the class can be minimized by
2482477
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Fe H SRy & g gR S o o e @

telling students that it is bad to be absent in the class
BE B I b e § SuRa W R §

punishing the students

Bl Bl ¥ HT

teaching the class effectively and regularly

e Byl & F 3R it ®u d ugrr

ignoring the fact of absenteeism

B ¥ T F oFE

Correct Ans : C

Subject : Mathematics

Q.No: 88 Good teaching is best reflected by

2482502
BT RIET ..o Y wdfan w9 ¥ Rk gar @
attendance of students
A T SRR
number of distinctions
° o s
meaningful questions asked by students
¢ BE ERT I8 T i uy
D pin-qrop silence'in the class
FeT H fO-giu ase

Correct Ans : C

Subject : Mathematics

Q.No: 89  Micro-teaching components are

2482709
e e gewd §
Micro-teaching situations
A geA faor fRufort
Teaching skills
° Rieror piwer
Feedback Devices
¢ Ufafshar Ius0r

D All of the given option
fou @ i fawea

Correct Ans : D

Subject : Mathematics

Q.No: 90 Gestalt is associated with-

2482823
A Wertheimer
Organisation in verbal learning
° e e &
c g;lour
D Motivation

Correct Ans : A
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Subject : Mathematics

Q.No: 91 Salim Ali was related to which field and a leading conservation scientist who influenced environmental policies in our country for

2469374 ,yer 50 years?

AW S TP WG W& aqiw A i 50 ¥ 4d auf J guR 5% # vaiarur Hifadl 3 mfaa fovan 8, 3 few 8 9 el 22

Herpetology

A
gy far
Mycology
B
Fas fagH
Entomology
C
PlelaH
Ornithology
D
REICEIR

Correct Ans : D

Subject : Environmental Study

Q.No: 92 The main component of biogas is-

2470203

SO &1 g7 W 8-
CH,

CH,

CO2

CO>

Cco

co

H-

Correct Ans : A

Subject : Environmental Study

Q.No: 93 Project method in teaching is suited most to

2470416

fRreor & ufdor Tefa Te offie Sugad it @
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promote scientific method

A
CRIEER AT EHE ekl
promote understanding of basic concepts
B
gl sEyRonsit 3 90 B gom o
promote numerical abilities in child
C
T § HOIHS &AATST B dg1ar & H
strengthen reasoning skill in students
D

BE H T DI DY Ao FA A

Correct Ans : B

Subject : Environmental Study

Q.No: 94 Which of the following is not a method to teach EVS?

2470420
fafefed # 4 S Sdicy ugr @1 fafy et 82
Problem solving
A
T AT
Guided enquiry
B
FERM ggare
Co-operative learning
C
FEpRI fRief
Explaining through lectures
D
R & HIAH § A

Correct Ans : D

Subject : Environmental Study

Q.No: 95 Which of the following is not directly harmful for human health?
2472090

fFafefead § ¥ $19 99 Wy F T gy w9 9 giNeRS 6l 87

co

A
co
COz

B
COq

C NO
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NO
NO:

NO:

Correct Ans : C

Subject : Environmental Study

Q.No: 96 An increase in concentration of toxicants at successive trophic levels and these toxicants get accumulated in organism'’s body is

2472095 inown as

TR G RY R fasrea yerdf & gigar & 9fg 3R 3 fawed verd o & TR & o €1 o €, 39 bed §

Mutation
A

JafadT

Biomagnification
B

o9 Smae

Mal nutrients
C

e UG ad

Denaturation
D

e

Correct Ans : B

Subject : Environmental Study

Q.No: 97 Soil erosion can be prevented by

2472289
gt & pera B AT o Tl B
growing plants to form a soil cover.
A
ot 7 iR SR F o Y I
Allow grazing,
B
WIS DI AT &
increasing irrigation.
C
R d9fa
deforestation
D

Tl P Perg

Correct Ans : A

Subject : Environmental Study

Q.No: 98 What help the fish to change their direction and help them in maintaining balance in water
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2472402
T BT U G Fee SR Ut H W 9T @A B o1 Heg Rl o

flat fins and tails

A
I UE 3R U
gills
B
B ET
scales
C
WIS
snout
D
kShl

Correct Ans : A

Subject : Environmental Study

Q.No: 99 The crops which are sown in the rainy season are called?

2472478
auf g & a3 oI el Bae Hea o7
Rabi Crops
A
&t B B
fodder crops
B
AR B
Kharif Crops
C
i HHd
Weeds
D
TRYAAR

Correct Ans : C

Subject : Environmental Study

Q.No: 100 Which technique is recognised as a powerful supplement in inventing new hybrid varieties of

2472502
seeds?
siell @t 78 I [l & sifadR # frd do-ie @ T YiFsel Re & ©0 J qdl
T §?
Genetic engineering

A
SAfew Seiifarar

B Green revolution
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B hifer

Pollination

ORI

Fertilisation

IECER]

Correct Ans : A

Subject : Environmental Study

Q.No: 101 The kind of malnutrition MDD stands for-

2472723
FUNY BT TP YHR MDD &7 37 -
Malnutrition Defect Diseases
A
T IRA fethae fefore
Micro Defect Diseases
B
AIgsH! e 3ot
Milk Deficiency Diseases
C
e S fSfom
Mineral Deficiency Diseases
D

frra SERE fefoe
Correct Ans : D

Subject : Environmental Study

Q.No: 102 India’s first rocket was launched from-
2473972

YR HT U8 Ahe Dl § yaida far mar ure

Science Academy

A
far st
Thumba Equatorial Rocket Launching Station
B
YT SHARTS AT A<t TR
Indian Academy of Sciences
C
HR foT srepreHt
Department of Rocket Science
D

e fax favmT

Correct Ans : B

Subject : Environmental Study
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Q.No: 103 The flight test of indigenously developed HEAT Abhyas was done from :
2474163

wWexll ¥ ¥ ol gE-wiie Taidaa Thad TRile (Bie) Sharl &1 SSM TRI&T Thadgdd.

Integrated Test Range (ITR), Chandipur

A
TP T I (.. 3R, ), IR
Satish Dhawan Space Centre, Sriharikota
B
A o Sfaikel F, MeRprer
Liquid Propulsion Systems Center, Thiruvananthapuram
C
Space Applications Centre, Ahmedabad
D

SR TN $5, SGHAGEIG
Correct Ans : A

Subject : Environmental Study

Q.No: 104 The LEOS present in Bengaluru stands for -

2474185
F1qe A ANE U5, 3009, (LEOS) &1 YU =7 ¢ -
Laboratory for Equipments and Optical Satellites
A
TSR BR UHTTHeH TS e Jeasey (STHRU iR USRS SUIE! & 1y i)
Laboratory for Electro-Optics Systems
B
e BR Faag)-3ioed R (figgd Ue1Re! d wiTie)
Laboratory for Engineering and Operations of Satellites
C
AR BR FORHART TS SRR 1 Yearsed (STRIo & el 3R HareH & g =)
Laboratory for Earth Observation Satellites
D

TeRed BR orf SifesRaT Yeamey (Tt saaie Iuwe! & forg wiRT=em)
Correct Ans : B

Subject : Environmental Study

Q.No: 105 Which of the following meteorites has been recovered in the UK in February 2021?
2474212

fofifed ¥ § P w1 Seoifts wRadl 2021 F g% § sRIe fpar 17 82

Glasgow meteorite

AR SepiiS

B Manchester meteorite
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AR Iepifts

New Jersey meteorite

=7 oiif et

Winchcombe meteorite

faaene Sepifts

Correct Ans : D

Subject : Environmental Study

Q.No: 106 Which of the following soils is the most available soils in India?

2475684
frafifea & 3 o I it ura & T8 ot Suae g9 arel it &7
Saline soil
A
ard gt
laterite soil
B
qewEe gt
red soil
C
et fih
alluvial soil
D
wreitg gt

Correct Ans : D

Subject : Environmental Study

Q.No: 107 A lowering of the groundwater-surface caused by pumping is known as:

2475721
TR & SR YO PI A FIHAGAT gl &
drawdown
A
[RicanEl
dripdown
B
USRI
draught
C
g
dripdew
D
fgusy

Correct Ans : A
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Subject : Environmental Study

Q.No: 108 Nutrients present in oil cakes, after mineralization, are made available to crops ____ days after application. Fill in the blank.
2475783

Tt B Hie UG dd, WIS & 918, BUd B aH & & 91g Suasy S o o 81 e =i 1R

7-10
A

7-10

5-7
B

5-7

10-12
C

10-12

15-20
D

15-20

Correct Ans : A

Subject : Environmental Study

Q.No: 109 A soil or rock below the land surface that is saturated with water is known as:

2475925
HfH1 B1 Fag $ A B G A1 g SN U @ G gl 8, Peard o
aquifer

A
Sferd
aquifer (confined)

B
e oIy (confined aquifer)
aquifer (unconfined)

C
3Q¥ Seyd(unconfined aquifer)
other aquifer

D

S SIerHd
Correct Ans : B

Subject : Environmental Study

Q.No: 110 Which of the following are three major important elements in plant nutrition?
2475945

et &ty F el # ¥ F9 & ve Teagf 9w €2

Nitrogen, Sulfur, Phosphorous

AISEIoH, YeHR, BRORY
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B Nitrogen, Phosphorous, Potassium

AEEIeH, BRERY, WleREad
Oxygen,Nitrogen and Carbon
C
oo, EIH IR Frei
Carbon, Calcium and Potassium
D

P, Hicxad iR TeREH

Correct Ans : B

Subject : Environmental Study

QNo: 111 A larege quantity of dead organic matter/ humus which makes the soil alkaline.

2475982 which of the following soils is being talked about here?
aa e gerel/ eror Y ven gt A St {HE) B e aerd g1 9st Pt F &
o fgr Frarg Hram wWra?
Marshy Soil
A
e gt
Forest soil
B
& gt
Mountain soil
C
et ot
Red soil
D
e gt

Correct Ans : A

Subject : Environmental Study

Q.No: 112 When was the National Seed Project Phase-I started/operated?

2475989
TS Aot IREASTAT TRUT- 1 ohel Y&/ Telcl T 31T 2r?
1976-77
A
1976-77
1977-78
B
1977-78
Cc 1978-79
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1978-79

1979-80

1979-80

Correct Ans : B

Subject : Environmental Study

Q.No: 113 How many Ballon d’Or has Cristanio Ronaldo won?

2476517
fopeerfra e A fbat ser Saii Sfid 82
4
A
4
B
5
6
C
6
7
D
7

Correct Ans : B

Subject : Environmental Study

Q.No: 114 What is the national game of Scotland?

2476646
Wicds o1 AT T 1 72
Rugby
A
et
Tennis
B
GES]
Golf
(o}
Tiew
Chess
D
RIGEE |

Correct Ans : C

Subject : Environmental Study

Q.No: 115 One of the demerits of demonstration method is
2477166
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Yo fafy & 3aor 8-

Students lose the power of thought

A
oH R R @ <A §
All students do not observe the experiment
B
Tt BT T 1 Fteor T HRa §
The teachers do not get a chance to perform experiments
C
gt Y AT HRA BT AW a1 faerar
Improper performance of experiment by the teacher creates lot of doubts in the minds of students
D

fRiefer GRT WART BT SR wed BET & T H 9gd IR Siend Uar Hear @
Correct Ans : D

Subject : Environmental Study

Q.No: 116 Which gas is continuously formed by the action of UV rays on molecular oxygen?

2477833
U SifefioH W gd Rexull 3t fipan § & W 79 AR s 82
CFC
A
Bl
Ozone gas
B
i A
Methane
C
Ha=
Carbon Dioxide
D

Pla SBHRIZS
Correct Ans : B

Subject : Environmental Study

Q.No: 117 What amount of carbon dioxide in the atmosphere is known as the delicate proportion of the same, crossing which the natural

2477887 greenhouse balance may get disturbed?
THST A P SZIHASS P Bl AE I F TGS U & w9 H IF ol 7, B IR $1 § Wipfas W g6y Iqer Teas! I&dl 87
0.1%
A
0.1%
B 3%
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3%

0.3%
C

0.3%

0.03%
D

0.03%

Correct Ans : D

Subject : Environmental Study

Q.No: 118 A goatisa -

2477957
S THAE -
Producer
A
Idicd
Carnivore
B
HiGERY
Primary Consumer
C
Ui I
Decomposer
D
SUYCH

Correct Ans : C

Subject : Environmental Study

Q.No: 119 Which of the following can be included in a Portfolio?
2478544

1. Self-assessment sheets

2. Peer assessment sheets

3. Parent assessment sheets

Choose the correct code -

Fafifea § § w7 o UCwIRn & wfta a1 o1 s 82
1. W@ 3IHeH e

2. GG 3Teher Tie

3. NS e e

el He g -

Only 1 and 2

Faa 1 3R 2
B Only 2 and 3
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Pad 2 3R 3

Only 1 and 3
C
Faw 1 3R 3
1,2 and 3
D
1,23R3

Correct Ans : D

Subject : Environmental Study

Q.No: 120 A teacher uses evidence or information from different sources to provide regular and timely feedback and plan the teaching-

2478586 learning accordingly. By doing so, s/he utilises which purpose of assessment?

% g g ok T R BIgeE UM T & e s Oidt @ wieg a1 THaR! &1 ST aRd § SR dequR Rigor-oifiem ot diem

TG &1 U P, I 3MPo & (g IeT BT ITTN B 82

Assessment for Learning

A
e & forg smeer
Assessment as Learning
B
e & ¥ H efba
Assessment of Learning
C
e &1 ST
Assessment by Learning
D

e & gRT Sber
Correct Ans : A

Subject : Environmental Study

Q.No: 121 Evidence of validity can be related to
2474289

b 1T R 2 O SN Q G g1 Hebell 31
construct
A
Fafor
content
B
gt
criterion
C
AFES
D all of the given options

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx

44/57
Page - 44



feu o Wit fiwe

Correct Ans : D

Subject : Child Developement

Q.No: 122 School based assessment

2474310

IHd YR e

makes students and teachers non-serious and casual
A

B IR Rt F1 sk ok AR ST §

dilutes the accountability of boards of education
B

e 9IS F ITRaIAT B HA B ©

hinders achieving universal national standards
C

T 99F U AFS S S Sl §

helps all students learn more through diagnosis
D

e & ST S Rigor § wuft ©E Y Hee FRaT

Correct Ans : D

Subject : Child Developement

Q.No: 123 Play is not a trivial pursuit but a serious occupation for a child which has a deep significance for his development according to
2474459

T IS A Tt 7T R afetp U g S U ud R Aawm F Rdr ¥ AR 39S e & R e Hewd B
Maria Montessori
A
Tifean wfeat
Froebal
B
IS
Hurlock
€
wale
None of the given options
D

fou e el § ¥ S 7

Correct Ans : B

Subject : Child Developement

Q.No: 124 Knowledge of child psychology is a must for a primary teacher. That is because
2474544

IS Rigie B 916 AT $1 I ST S §) T8] PRU ¢ 1
A It helps in making children disciplined
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= B TG FA | Heg ST &

The examination result is improved

B

ot & ufRome F guR gonm §

It becomes a convenient mode for motivating children
C

= &1 AR TR o1 98 T YRYSFS NPT &7 ST §

It helps the teacher in understanding the behavior of children
D

Tl & deR Bl gHgH H Rierb] B} Wl ol &

Correct Ans : D

Subject : Child Developement

Q.No: 125 The incorrectly associated pair is

2474609
fofifea & § $H-w1 7w Tad §
Joseph Lancaster —contract plan
A
SR AHwR - S oA
Benjamin Franklin-academy
B
James B Conant -high school
C
N ft FT -8 T
Horace Mann —-elementary education
D

TR T - TR Rren
Correct Ans : A
Subject : Child Developement

Q.No: 126 Students with which disability have difficulties that occur across all areas like “learning, communication, social, academic,

2475445 yocational and independent living skills?”

Fofafea ¥ 3 foy fawarma & sRu fagdf $1 v dReq, TOR &7, e, SERhE, IR o Wad Sied e S8 g &sf 7 W

&Il 82

Mental retardation
A

AR fasaiTar

Giftedness
B

Ut

Specific learning disability
C

fafkre @ feSfafc
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ADHD

ADHD

Correct Ans : A
Subject : Child Developement

Q.No: 127 Freudian psycho analysis is the most prominent

2476172
IS BT T ARA0] RIGTT TaME TRIE v gl
trade theory
A
MR Rrgid
social behavior theory
B
GRS agR Rigld
motivational theory
C
R g
reinforcement theory
D

JrpRide Rigia
Correct Ans : C

Subject : Child Developement

Q.No: 128 Analyze the statements and chose the correct options
2476270

Statement (i): One of the main social problems of the 40 weeks old infants is to solve conflict between attachment and

detachment.

Statement (ii): With mother present, infants will readily leave her to explore an interesting environment

FAT BT fI=AN H¥ IR Tl fawed g
B (i): 40 e F RS Bt greT qrers gawnsd # § u @ iR SHed & §i9 F JUY B 57 Bl 3
FYA (ii): T & IURURT T R o1t I T [Gaa=y araraRor &1 gdl a7 & e 9 9 g1 g1 st

Both the statements are true

A

T B T

Both statements are false
B

Al BT 3 §

Statement (i) is true and (ii) is false
C

B (i) 9 ¢ 3R (i) 39§

Statement (ii) is true and (i) is false
D

YT (ii) I © R (i) 3T &
Correct Ans : A
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Subject : Child Developement

Q.No: 129 A time bound testing programme for a students should be implemented so that—

2476701

fenfiat & o - R ofien SRiea any far smg

The progress of the students should be informed to their parents
A

AT~ St BE S Wit F IR F giEd e s =i

A regular practice can be carried out
B

e v & spara frar o g §

The students can be trained for final examinations
C

Sifermr Tie % RiT BT B W faT o T &

The remedial programme can be adopted on the basis of the feedback from the results
D

il 1 ufaferar & SR W Ry e St U o 95T §

Correct Ans : D

Subject : Child Developement

Q.No: 130 Which of the following activities will need the most physical readiness in a child?

2476875
frafaiea 4 9 foa niafafy & ow T o= 4 9t it TR Teran &1 siawgehdr gt
Reading

A
T B H
Talking

B
I B A
Dancing

C
TA A A
Sleeping

D
RIck:)

Correct Ans : C

Subject : Child Developement

Q.No: 131 When a learner is allowed to do painting after he has finished his work, it becomes an example of:
2476938

9 T el F 30er HH TG FRA F a1g U Ha B orgufa ff St 8, 9% U IereRu 89 ST § P :
Negative reinforcement
A
THRIAS eS0T (iifed YwiT)
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B rFositive reinrorcement

TPRIAD YEeIHRU (Uiied YhRHe)
Operant conditioning

C
g srgger (St HSrIFT)
Punishment

D

el
Correct Ans : B

Subject : Child Developement

Q.No: 132 Concept changes from:

2477566
3qyRoT ¥ uRad H g 82
Specific to general
A
fafkr & W
Complex to simple
B
Sifed & W
Defined to undefined
C
ofefa & soferfia
Complex to unspecific
D

Sifea & sifafke
Correct Ans : A
Subject : Child Developement

Q.No: 133 Consider the following statements -
2477673
1.A child who comes from a well-educated and honest family will never be engaged in delinquent activities.

2.A child, who comes from a family where multiple family-members are engaged in crimes like robbery etc. will not necessarily
be involved in delinquent activities.

Which of the above statements is incorrect?

FAAfRed YAl W 3R Sife-

1. T& Riféd SR SAMER uRaR J S arar g=1 s of srurifie afafafrdl # wnfie gt g

2. & g, it U8 uRaR ¥ Sl § el URaR & &s Uaxg ol nfe S smovifiss ol F for 8, St =1 o oy nifafaaf>adl & =wnfira &
SWRIT # I B I HUF Tad o7

Only 1

Fad 1
B Only 2
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PHad 2

Both 1 and 2
C
i 1 3R 2
Neither 1 nor 2
D

TA1RAH 2

Correct Ans : A

Subject : Child Developement

Q.No: 134 Children develop a set of relationships in school with teachers and among classmates. Which of the following does not influence
2478947 this relationship?

o= T # Rie! ok Geuifdal & i el 31 U e ielia ava §) Fefifed 8 ¥ S 39 ddy &1 uuifdd T8 e 82

The division of classes in school

A
@ § wefreit o1 AU
Teacher’s attitude
B
e o1 79
Extra-curricular activities
C
reaaR Tafaft
Division of lectures into period
D

3@ § AR BT fFUSH

Correct Ans : D

Subject : Child Developement

Q.No: 135 yhich of the following kind of socialization takes place when individuals adapt to new roles

2479000 4 as that of husband wife/emplovee etc., according to their needs and wants?
EFafafad # ¥ fh YR &1 AT T giar § STa cAidd 9= Haeasas A
AMGdl & AR @5 HHABB oI If/IcaAyHHART TG B 3T e 57
Adolescence Socialisation
A
[ERINERGEISICaU)
Growing up Socialisation
B
A FHSIBRUT
Adult Socialisation
C
U FHTSITBRO
D Gender Socialisation
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IGUKEIEiCaU|
Correct Ans : C

Subject : Child Developement

Q.No: 136 Which of the following is NOT a feature of socialisation?

2479040
Fufifed & 3§ oF 4 gueisRu St Ay 75 82
Instil basic discipline
A
T ST R H
Unanimity among agents of socialization aids in its process
B
SIS0 & Toiel & Sl Qe ST fhal § Ferel Sl &
Controls Behaviour
C
AR g
Make children employable
D

T B AR TG G

Correct Ans : D

Subject : Child Developement

Q.No: 137 Who among the following introduced the concept of Anticipatory Socialisation?

2479053

Ffifed & 3 e TR GHSTSR0 B SaURUT TRdd $1?

Anthony Giddens
A

T fidw

Peter Worsley
B

Yiex aredf

Robert K. Merton
C

JJeC . WA

Erving Goffman
D

RIS MEAT

Correct Ans : C

Subject : Child Developement

Q.No: 138 Which of the following is not one of the sub stages given by Piaget in the Sensorimotor stage?
2479167

e & § 1 IR o # frare gR1 R e 3u e § 9 1 T8 @2
A Stage of Reflex activity
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ydiad |ishadr &I =R

Coordination of reaction

B

wfafshar 1 gaag

Early Representational thought
C

uRfire wfafAfy faer

Pre conceptual stage
D

Td Jaie =R

Correct Ans : D

Subject : Child Developement

Q.No: 139 Which of the following is not a correct feature of Progressive education?
2479526

fFufifaa § @ 19 yfai fRem Bt wel fadvar 72 &2

Exclusive reliance on syllabus and textbooks

A
reamY 3R TTegad! W ARy Fefkar
Education for society and democracy.
B
TS IR e & forg e
Integrated curriculum focused on thematic units.
C
fawaTa soIsdl W Sfgd tigd Teasd|
Emphasis on lifelong learning and social skills.
D

3rofiae diew SR I P W SR

Correct Ans : A

Subject : Child Developement

Q.No: 140 Which of the following is NOT one of the common components of intelligence?
2479658

fofifea & § $1 98 & 9 geel § § ue 71 72

Ability to adjust with the environment

A
TR & WY AT S B &
Ability to learn
B
TR BT &mar
Ability to carry out abstract reasoning
C
S TF PR B &l
D Ability to carry out vocational tasks
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RS B DI B P &HdT

Correct Ans : D

Subject : Child Developement

Q.No: 141 perceives a person as an active and curious individual, who is involved actively in solving any problem.
2480009

& T S U Aqipa iR g =fda & &9 § aHar 8, o vt +ff wren & ga 7 & Ifa w9 3 i S 71

Behaviourist Approach

A
FEGRAIC] TR0
Humanistic Approach
B
HAEaErd) i
Cognitive Approach
(o}
G RSB0
Socio-cultural Approach
D

IAiP-ARpia® RS
Correct Ans : C

Subject : Child Developement

Q.No: 142 Rajan, a second class student, has performed well in classical dance because he has

2480167
fgcita ot & B o 7 AR T B Sr<51 We=H far g, Fifd 39% U -
Musical intelligence
A
Wit gfe
Interpersonal intelligence
B
IRERS gf
Bodily-kinaesthetic intelligence
C
TRRe-FRARE 9
All of the given options
D

fu g Wit faweq

Correct Ans : D

Subject : Child Developement

Q.No: 143 Rakesh gives all the correct answers in the class verbally but fails to score in exam. Which of the following could be the possible
2480188 [oa50n?
A5 & § Hifds w9 F 9 IR T8t &t 8, Al e & i U Fx B fawa gar 71 Fufarad & § $F-a1 Suifad SR g1 gl 2
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A He may not be able to deal with sudden pressure

96 3P <ard Q Fued § gar 7 8 urar 8

He is not well-prepared in the examination.

B

T8 Tia ¥ 313t RE § AR el B 81

He faces problem in writing.
C

95 fere ® TR T AT SRl §

He may not be able to deal with sudden pressure and faces problem in writing.
D

9% SRIF <ald A FAues & war =1el &) urar & ik R # Wit &1 WA B B

Correct Ans : D

Subject : Child Developement

Q.No: 144 The study conducted by Galton based on the influence of heredity concluded that

2480300
ARG & UUIE W Senia fleed gRI T U s 3 ey feran fa-
Intelligence is inherited from one generation to another generation.
A
IS 7w il & et i Bt i S &
Eminence is inherited from one generation to another generation.
B
ga T Wit & e Wit i aviig g &
Heredity is the limit setter for development.
C
e sy @t g Rk 81
Heredity distinguishes between biological as well as social inheritance.
D

AR Sifde SR T € TS dRmfe & o SfaR Hvelt 81

Correct Ans : B

Subject : Child Developement

Q.No: 145 Who among the following defined creativity as the ability of an individual with which he creates something new and presents
2480385 gvel?

frofafed & @ e el 31 (@ Afd 31 emd & w0 § aRuia a1 s 91y 98 $© 791 9911 § 1R TdiF TRgd $dl 82

Skinner

A
e
Drevdahl

B
$asEa

C Karwoski
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PRID

Eysenck

IEoP

Correct Ans : B

Subject : Child Developement

Q.No: 146 Understanding a thing even if we cannot see them is called

2480420
et oxg &1 3@ 7 UR W 9 3§ gHgE Fgard ¢l
Cognition
A
RSEUR|
Perception
B
YRuT
Object permanence
C
T W
Imagination
D

Dl
Correct Ans : C

Subject : Child Developement

Q.No: 147 Regarding the errors make by an students during learning process, which of the following is best as per your view point?
2480611

e o1 ufspan # fendl gr1 1 718 I & v A, suet € #, Fa A J BI9-a1 By wdkd 82

Students should never make mistakes

A
faremdf &5t it off 3t et St =fey
Mistakes are the part of learning process
B
Fofear siftem withar &1 umT §
Mistakes happen due to carelessness of the students
C
foremdf &t TTRarE & SR el Bt §
Students can make mistakes occasionally
D

Hult-wut femlf feal o< g &
Correct Ans : B

Subject : Child Developement

Q.No: 148 Why play is considered a key element in the process of socialization of children?
2480681
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Sl P GHGIDRU B Ufshd] H Tel P U THE dcd I AT SIell 82

For creativity

A
TG fabry & g
For communication
B
TR fawm & R
For exposure
C
IRy fapry & frg
For building self-confidence
D

TH-fayrg e & fmior & fig
Correct Ans : A
Subject : Child Developement

Q.No: 149 Which of the following thinkers has given the principle of 'I' and 'me'?

2480845
fFrafifea § ¥ f fare 3 & ofR a3 &1 Risfa e g 2
Mead
A
Hts
Durkheim
B
EUck
Lamarck
C
<
Coole
D
T

Correct Ans : A

Subject : Child Developement

Q.No: 150 Technique that a child acquires for processing information supplied by his senses is known as

2480904
T AP o8 TP el (Ut S gRT SMYfef F1 71 THHRE B Ui F F T U et ©
Motivation
A
R
Learning
B
e
[of Intelligence
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gfam

Personality

Hfgaa

Correct Ans : C

Subject : Child Developement
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